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Redistricting Overview

For districts that are divided into internal divisions
(such as trustee areas.)

Every 10 years, in the year following the Census.
Redraw the lines to balance population.

How balanced?
What criteria?
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Sacramento City Unified

* Total Population = 324,478
* 7 Trustee Areas

* Target = 46,354
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SCUSD — Existing Trustee Areas

Area1 = 46,421
Area 2 = 47,331
Area 3 = 47,048
Area 4 = 49,018
Area 5 = 46,802
Area 6 = 45,163
Area 7 = 42,605

Target = 46,354
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SCUSD — Existing Trustee Areas
Area 1= 46,421 + 67 + 0.1%
Area 2 = 47,331 + Q77 +2.1%
Area 3 = 47,048 + 694 +1.5%
Area 4 = 49,018 + 2,664 + 5.7%
Area 5 = 46,892 + 538 +1.2%
Area 6 = 45,163 - 1,101 - 2.6%
Area 7 = 42,605 - 3,749 - 8.1%

Target = 46,354
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SCUSD — Existing Trustee Areas

Area 1= 46,421 + 67 + 0.1%
Area 2 = 47,331 + Q77 +2.1%
Area 3 = 47,048 + 694 +1.5%
Area 4 = 49,018 + 2,664 + 5.7%
Area 5 = 46,892 + 538 +1.2%
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Existing

Area1= 46,421
Area2= 47,331

Area3= 47,048
Area 4 = 49,018
Area5= 46,892
Area 6 = 45,163

Area7= 42,605

Target = 46,354

+ 0.1%
+2.1%
+1.5%
+ 5.7%
+1.2%
- 2.6%
- 8.1%

e

Proposed
46,421 + 0.1%
47,331 +2.1%
47,048 +1.5%
45,801 -1.2%
46,802 +1.2%
45,163 - 2.6%
45,822 -1.1%



